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(4) [BH CMOS FEEIASSE N ERBEERy K'n= k=400 pA/NV?, Vin = ~Vip = 0.4 V.
(a) FF A A FI B fEHE - RETEESLASHY W/L {H > (HRTE EEHGRY E5E EE R
(overdrive voltage) sy 0.2V » M1, M2, Ms, Ma FY AR EE i (drain current) £y 100
WA > Ms, M7 BYRABERIR Ry 200 pA - [EIFGG s Vo RVEDEEEA(E? (10 77)
(b) LOSRE AL va=vig/2 » ve=-vig/2 > KILEEREHYEEERE 25 (voltage gain) vo/via < BB,
nufic Yy Early BEEELy 8V o (10 53)
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(5) The current-mirror-loaded differential amplifier has a feedback network consisting of the
voltage divider (R, R,), with R, + R, =1.2MQ. The devices are sized to operate at |V, | =

0.2 V. For all devices, |V,| = 10 V. The input signal source has a zero dc component.

(a) What kind of feedback topology of this amplifier? (5 47)
(b) Find the loop gain 4f and hence the value of 4. (10 47)
(¢) Find the values of R, and R, that/result in a closed-loop gain of exactly 12 V/V. (5 73)
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